.g$§g¢%ﬁﬁw

— 7 BT

il

- IR )

/7 £528)FBehaviorism
(1920-1960)
» Assumes that there are
general laws of learning

* Learning is based on
establishing associations

« Stimulus and response
associations

Two related events:

Stimulus1: g
Lightning é

Result after repetition:

Stimulus 2:
Thunder

Stimulus: g/

We see
lightning

We wince,
anticipating
thunder

Response: ﬂ
=1

Behaviorist Theories
« Classical Conditioning
» Operant Conditioning

Classical Conditioning

Ivan Pavlov
(1849-1946)
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BEFORE CONDITIONING

UCS (food
in mouth}

suck”
\_=:~=) {salivation)

l

Neutral stimulus = %
(tone) No A}

salivation

An unconditioned stimulus (UCS) produces an
unconditioned response (LCR).

A neutral stimulus produces no salivation response,

AFTER CONDITIONING

DURING CONDITIONING o o
LA

Neutral
sllrnulus

(tone)

[salivation)

L

s
{tone (R v
e (salivation)

The unconditioned stimulus is repeatedly presented
just after the neutral stimulus, The unconditioned
stimulus continues to produce an unconditioned
response

The neutral stimulus alone now produces a conditioned
response (CR), thereby becoming a conditioned stimulus
(Cs).

Stimulus

[l
R @de

Behavioral approach
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Black Box

I Response

Strength of CR

Reinforced trials
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Piagetian concept

Definition

Example

Start  Equilibrium

Assimilation

Accommodation

Organization

Finish

Harmony between one's schemes
and one’s experience.

Tries to adapt to new experience by
interpreting it in terms of existing
schemes.

Modifies existing schemes to better
account for puzzling new
experience.

Rearranges existing schemes into
new and more complex structures.

Toddler who has never seen anything fly but birds
thinks that all flying objects are “birdies.”

Seeing an airplane in the sky prompts child to call the
flying object a birdie

Toddler experiences conflict or disequilibrium upon
noticing that the new birdie has no feathers and doesn’t
flap its wings. Concludes it is not a bird and invents a
new name for it (or asks, “What dat?”). Successful

ion restores e the moment,

at Il.m),
Forms hierarchical scheme consisting of a superordinate

class (flying objects) and two subordinate classes
(birdies and airplanes)

butterfly and a Frisbee.

Note: As an exercise, you may wish to apply Plaget’s concepts to chart the further elaborations of the child’s schemes upon encountering a




stages

* Sensorimotor stage
— 0-24 months
— object permanencef}’dﬁé}'lﬁﬁ
* preoperational stage
— 2-7yrs
- conservationféi‘?’f il
* concrete operational stage
— 7-11yrs
— Concrete thinking
» formal operational stage
— more than 11 yrs
— abstract thinking

Object permanence

Preoperational stageﬁﬁ{éjiﬁjﬁﬂﬁii i

« conservation [’%‘F?ﬁ%ﬁ
—number, length, liquid, weight......
+ Egocentrism and animism
— three mountains problem, $l = Z[|6-75E f |

BRI TR

— perspective taking

CONSERVATION STEP |
TASK
OO0
wt J OO
Number %
RSN E

“Are there the same number
or a different number?”

Length

"Are they the same length
or a different length?"

i 5 |

"Dao they have the same
amount of water or a
different amount?"

STEP 2

@@l @
(Sl D A8 )
"Now watch what | do." (Spreading)

"Are there the same number or a
different number?"

"Now watch what | do." (Moving)
"Are they the same length or a
different length?"

08 [
“Now watch what | do.” (Pouring)

"Do they have the same amount of
water or a different amount?”

| @ @

= mm (miw

"Do each of these two cows
have the same amount of
grass to eat!”

“Mow watch what | do." (Spreading)
"MNow does each cow have the same
amount of grass to eat, or does one
cow have more!”

[:::‘ F;1.

—
"Mow watch what | do.” (Removing one
ball of clay from water and reshaping)

“Mow will the water levels rise equally,
ar will one rise more!”

“Daoes the warter level rise
equally in each glass when
the two balls of clay are
dropped in the water!”

characters of concrete operational

stage

» Only think in concrete information they

perceived directly
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* 4= Fconstructionism, constructivism
* active learner
* cognitive stage
+ cognitive challenge
* individual difference
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How does a Taiwanese
recognize English words?

— Whole word approach? (visual->semantic)

— Phonological decoding? (visual-
>orthographic/phonological->semantic)

aTing Ting Chang, MS thesis

Parallel or Serial?

» To explore the word & [Tz
recognition processes by |
Examining word length -
effect "

—Locus: Letter
/phoneme/syllable?

4 5 6 7 8
4 5 6 7 8

* Words
* Pseudowords (dit, pik, strack)
« Consonant strings/nonwords (ftdl, grsl)

Lexical decision task




» Aim of the experiment
— To examine word length effect of EFL learners
* Subjects
— 24 EFL native speakers of Chinese
» Design
— 2(word/pseudoword) * 6(length 3~8 letters) within-
subject design
* Materials
— 84 high familiar words (3~8 letters) ex. bus
— 84 pseudowords (3~8 letters) ex. dit
* Procedures
— LDT (Lexical decision Task) paradigm

Procedures

SOA = 3000 ms .—‘

Pseudowords as No responses

1300

1200 14
1100
1000 923

900

RT (ms)

800

700 O word

600

B pseudoword
500
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Being Bilingual Boosts Brain Power ?
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« Overgeneralization:

Ej llJ [;?”(Iearned) ﬁ*l%\f‘\:ﬂﬁ—
R E,}ﬁ“jt?ﬂr%(acquwed) 3o
fﬁ [i ik o [ (generative) » ZHE Y

— Go, goed, goed (go, went, gone)
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Feral children

* Genie, 13yrs,uﬂr,§§:ﬁ EJI-;'\L
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Number and Examples of the Nine GIT Sentence Types

N Sentence type Examples

8 Past tense A policeman gave Alan a ticket for speeding yesterday.
#A policeman gived Alan a ticket for speeding yesterday
8 Plural Todd has many coats in his closet.

“Todd has many coat in his closet

8 “Third-person singular Every Friday our neighbor washes her car
*Every Friday our n

8 Determiners The boy is helping the man build a house.
“The boy is helping the man build house

8 Pronouns Susan is making some cockies for us
*Susan is making some cookies for e

6 Particle movement Kevin called up Naney for a date
“Kevin called Naney for a date up.

14 Subcategorization ‘The litle boys laughed at the clown.
“The litile boys lmughed the clown.

4 Lexically specified subject/objet raising Larry believed himself to be brave
*Larry believed that himself 1o be brave,

4 YN questions Should Timothy have gane to the party?
#should have Timothy gone o the party?

4 Wh questions Where did she put the book?

*Why did she put the book?

Note. , the number of sentence pairs. In the list of examples, the ungrammatical member of cach sentence pair is marked
by an asterisk.
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FIG. 2. The age function in the present study, Early Arrivals (A) and Late Arrivals (B)
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TABLE 7

Comparisons of Two Groups of 20 Native Korean Par-
ticipants Each Who Differed in Amourt of Education in the
United States but Were Matched for AOA

More Fewer
years of  years of
Outcome variable education education  F(1.38)

Foreign accent S0(18)  S0(20) 000
Overall GIT score 87%(8)  80%(14)  3.29
Lexicon based GIT 4% (13)  79%(18)  1.39
Rule based GIT 916 (4)  BSM(12) 905

Note. The two groups differed significantly in U.S. edu-
cation (8.9 vs. 15.1 years) but had the same ADA (12.3
years for both groups). Standard deviations are in parenthe-
ses. P 1

st

HBE R AT TR

TABLE &

Comparisons of Two Groups of 20 Native Korean Par-
ticipants Each Who Differed in AOA but Were Matched for
Amount of Education in the United States

Earlier Later
Outcome variable AOA AOA
Foreign aceent S22 36(14)

Overall GIT seore 834 (13)  B1% (9) 0.4
Lexicon based GIT ~ 81%(17)  78% (12)  0.39
Rule based GIT 87 (1)  89% (8) 043

Nate. The two groups differed in AOA (9.7 vs. 162
years) but had the same number of years of education in the
United States (10.8 years). Standard deviations are in pa-
rentheses. “P < .01

ST N R R




TABLE 2

Comparisons of Two Groups of 20 Native Korean Par-
ticipants Each Who Differed in Self-Reported Language
Use but Were Matched for AOA

Little Much
L1/much L1/itfle
Outcome variable L2 L2 F(1.38)
Foreign accent 5.6(17) 44(1.9) 427+

Overall GIT score B9%%(10) B3 (12) 245
Lexicon based GIT B9% (12) B0 (15) 4.14*%
Rule based GIT 92% (8) g8 (1) 132

Nate. The two groups differed significantly in self-re-
ported Korean use (4.1 vs. 2.1) but were matched for ADA
(11.4 years). Standard deviations are in parentheses. “F -
05
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